EAGRAROBREERT — 2 N— IBISH —F 2021558230 (B) 3EIFm6H

.EI#?%S& 177X (GRE) (G E& ‘R@E‘%ﬁ%]— () 16000 B
[A&4£) 1 7% :7,300,000 @ 23 :2,900,000 @ ~ 33 :1,800,000 M 43 :1,100,000 @ 5 & :730,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
— N WERSE :34. -0 . . EESE (ER)
1 6 FTEL % 3 512_0 1(3_4)7 2-2-2 34.4| 928 | 7 ;1:522) bk
RIA2T75vva B9 T) 12X HE77—»4L
4 3 | =X 1:35.0 3-3-3 | 34.6| 89.5 | 1 490 | WIIFE (BR)
2|8/8| P H/RD15—7 56.0 (1" 3/4) Gay | B FRIR-xAsvz—
R:F4—=TA>N7 B:o—7 J—HrTr—LA
s 4 3 | EHBE 1:35.1 7-7-7 34.2|88.9 | 2 Mg | BE—% (ER)
355 |TT7—% #¢55.0 (3/4) (o) | AR
L:XF BTUUTLRITE REHIS
LS 4 3 | Seli— 1:35.2 7-8-8 |34.0| 88.0 | 8 488 | REFRA ()
N . B 5.0 T o |WES#F
L:F1—=TTVI7 BN =T —X HBTr—L
. N AEKXM :35. —6- . . MmkER (ERX)
50111 Fr3aA—-714£K1)— [B] 4 3 R 1(735t§ 6-6-6 34.5| 86.5 4 :1;48) q?;ﬁ%m
L:O—KAp+ror7 B:Fr3a-Hsr VAl N
= TN B 1:35. 4-4-4 4. 4.1 FEREE (EXR)
6 4|7 — F—EG1F @Y 56.0 ( 315/25) CH|| & € (‘?:) ,J\fgég.m
RGATAT v — Biy—ILy hIT— HET7—L
N . N FEEF AR :35. -1- . . BKAFE (EE)
207l 7 | vavrerre— [B] 4 3 s (12315/2% 1-1-1 | 35.8|76.2| 5 (4_924) e
b HFI—I K B:E414ZX b3y MHEB RS
. S HRFH— : -4~ AL (ER)
8 NEEPTLPPL R 3 L 1(.13;52.)0 4-4-4 |35.4| 77.3 | 6 (ig) e
L BATATv— BAAI 3T = te)
@ 71 L
) 46.5-34.6

NEAZZ2A L | 12.4-11.7-12.0-12.1-11.9-11.5-11.3-11.8

@ 11— —@EBIRfL

13—F—

2a—F— [7,6,8(3,4)1-(2,5)

3a—7— |[7-6,8(3.4)1,52

AT =7F= 7,6,8(3,4)1,5,2

0 ILRE

B OB 6 3,350 794K 6-8 1,150 B = 6-8 4,080 & 5-6-8 4,060

5 B 6 510/ 5-6 1,580/ | [ /& 8 6-8 11,480/ | | 38 |  6-8-5 45,850
8 130F9 5-8 2303
5 150M

ARICOVWTRDTEEERROODE. TR LIV,




